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CONCEPT
(A) (KNOWLEDGE)
= (1x8 = 8)

Q.1 Write the next multiple of 3, 6, ..... 2) g iuad (..
Q2 ... R is the factor of every number.

Q3  Write the numerals for the following : Twenty Two Lakh Fifty Four

Thousand Nine Hundred SIxty Five s .. 2n 2B 4.0 6.8 e cniivcvisirisssrsss -
Ahe - . 22 R4 65 S S e

Q4 Whatkind of angleitis— -
I
>
Q5 = i 2- .............. is the only even prime number.

Q6 37isa M number. (prime / composite)
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(2)

Q7 Write in expanded form -

99, 99, 99, 999 = ... 220020000 7+ 3.2.000900.4.93009000. -
+.900009.:5.90000 + 9000 +.900.+.90 +93

g
Q8 Fill>,<or= -

5,30, 54,700 _< 7,54, 30,700

(224 = 8)
- ]

Q9 Write the place and pléce value of 3 according to Indian place value

system :—-

78367921 =Place........... Lakhei,

Place Value ,300000 .......................

Q.10 Find out the perimeter a?d‘ area of the given rectangle.
§ I

Where 1 box =1 sq. cm.!

(@) Perimeter=...... | b’cm

(b) Area= .'5 sq Icm.

Write all the prime num'b,ef between 20 and 30.

2k 29

12 Draw factor tree for the ﬁu_mber 18.

»
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1x4=4
LA. S

Q.13 Divide all the rectangles In six equal parts by different ways :=

B) UND ND

m. 2 (1x6 = 6)
[+ e b is multiple of 4 (tick the correct option)

@ 2 (b) 6 oz
Q.15 Numbers having only 2 factors are called........ PAA\J.T.\L .......... numbers.

(Prime/ Compesiie)

Q.16 The picture shows one- third of the blades of a fan. Complete the picture

by drawing the other blades.

(P.T.0.)
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Q.17 Write the short form for the following : ¢

900000% 900000 + 200 + 30 = ... §.F.Q. Q.2 B Lo rrrissmsmmsrisssmsrrrssss

Q.18 What should come next ?

N|z|[N|Z

Q.19 Draw line of symmetry in following figure.

| =

S (2x5 = 10)

Q.20 Change this shape in such a way that the new shape remains the same

after ‘2 turn.’

Sol.

Q.21 Match the following :-

Proper Fraction ~ = _— 139 23114 1910
Improper Fraction /)& 113 | e 12125

Mixed Fraction ~_ =~ 1/ 1/6 1/8

Unit Fraction .~ )6\ 4% 157

30"
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Q.22 Make angles with the help of Protractor. (D M
(@) 60° (b) 120°

Q.23 Colour % of the smiley C Coloua ot Li)

BEOOCOOC0
e ccooee

Q.24 Complete the number pattern -

11,22,33,..44...,..55...

LA

e,
-t
..,
=
11
[
e

Q.25 Ramu's vegetable field has 9 equal parts.

i :(l) Which part of the field is used

(P.T.0.)
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Q.26
Q.27
G.za

0.29

Q.30

Q.31

(6)

B PUT

VSA (1XG=6)

Add the given fractions — 2/4 + 1/4 = 3
4
One more than 9,99, 999is _ | 000000

Subtract : 9848476 — 3507469 :
384847 6
-3507469

Gl g

Calculate and write -

8th multiple of 12| g,
Find the H.C.F. of 12 and 16.

12 = By
e = XD
HeE= 2x2. =4

When fresh fish is dried it becomes 1/3 its weight. We dry 6 kg of fresh fish

toget... o kg drieci fish.
Convert into mixed fraction.
35/6 = 5—%— (1) 23/4 = 5.32'-
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(.33 Draw grids of 16 squares and make a pattern with
2/8 red, 4/8 Yellow, 2/8 green
4

| &

p\j’ %T&ohzllmd«
TR |

Y

4

4 &4
_g‘fd\m ‘fﬂm

2 qun 4 i

o bc B A

Q.34 Fill this square using all the numbers from 46 to 54.
Rule : The total of each line is 130.

53| 45|49
46 | 50| &4

51| 52 | a7

loramna sells Prawns fish for Rs. 150 Ykg. She has sold 10 Kg Prawns
sh today. How much money did she get for that ?

b“’“ Alls = 150 X\0

————
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Q.36 Find the prime factor of 90 by prime factorization method -

[4e]
o

o
£
v

(o]0 o

T

L.A. (4x1 = a)

Q.37 Look at the Pattern of numbers in hexagon and fill in the blanks :
9

2 A
2

11
A AL,
6 7
Ton 119
17
(D) PROBLEM SOLVING ABILITY
V.S.A. (1x6 = 6)

Q.38 Cost of a book is Rs. 45. What will be the cost of 5 such books ?

Cest'cba boote = hus
le”dk 5 Beskad = A4S x5
&225‘

A - ? 225

Ans.

- e o AR RS EEEAND

Scanned by CamScanner



(9)

Q.39 How many 50 paise coins will make one rupee ?

Ans §21
Q.40 6/4-5/4=
NGl (b)11/4 (c)1/8
Q.41 Find:2/3 of 90
2 LHOEE 45
=% 9or= =
3 3
Q42 Write smallest of 8 digit number using digits 4, 3, 8,5,6,0,7, 1
|03456F8
12
Q.43 Draw the hands of the clock if time is 3:30 9 3
6
S.A. _ (2x5 =10)

Q.44 Write all the factors of '
12=_i,.2’.3,. q,. 6} -“2—
B, 2,5 ,6,10, 15, 30

Q.45 The last year about two lakhs boats in our country. Half of them are without

a motor. What is the number of boats without a motor ?
Ans,  The rumber ot boods Lathod a MW':ZXJZ-’

—'-'__-__-ﬂ

e

DTO)
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Q.46 Samir travels 80 kms in one day. How many Kms will he travel in 20
days ?
Ans.  Soawun Bowels o e'nx_d_n,&: Q olcuy -

Sownin, Powds an 2 dayp= 8ox20
| 60 0 K

Aur. | 660 lama -

Q.47 The Mason decided to tile the path. He tiled the first row with 2 feet tile.
Second row with 3 feet tile and third row with 5 feet tiles. He did not cut

any tile. What is the shortest length of the path ?

Ans, Z 2, 3,5—

(7,35
)
Bt |

A dhe = 2 R TN
MSW U"a”"“ 03 M: BGW

Q.48 Which of these rectangle has the longest perimeter ?

' | (@)
B o
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L.A.

Q.49 Look atthe price list -

ltem Tomato Potato | Onion | carrot T Gourd
Pricein 12 10 16 18 8
Rs./kg I

() How much does 2 kg of tomatd’cost ?

ns. AL (,gd ::2)(\?_
A 2\C:(:r s Vewatner e s

(ii) Which one is the cheapest vegetable ?

Ans. C:\ DUJ\,CL

(i) Which one is the most expensive vegetable ?

Ans. CM

(iv) He bought a gourd of 4 kg. Find its cost ?

Ans. 4 30445,9!,5 etk = 8x4
R Qs Ay
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